
  ＜比・割合＞ ～比例式の計算（応用）～   

(例題) 次の□にあてはまる数を求めなさい。 

 

(１) (□＋４)：９＝２：３ 

 

(２) (□＋８)：(□×２＋４)＝３：４ 

 

(３) (□－２)：(□×３＋２)＝１：５ 

 

(４) (１０－□×２)：(□×３＋４)＝３：５ 



  ＜比・割合＞ ～比例式の計算（応用）～   

(例題) 次の□にあてはまる数を求めなさい。 

ポイント 左右の差に注目 

(１) (□＋４)：９＝２：３ 

 

(２) (□＋８)：(□×２＋４)＝３：４ 

 

(３) (□－２)：(□×３＋２)＝１：５ 

 

(４) (１０－□×２)：(□×３＋４)＝３：５ 



  ＜比・割合＞ ～比例式の計算（応用）～   

(例題) 次の□にあてはまる数を求めなさい。 

ポイント 左右の差に注目 

(１) (□＋４)：９＝２：３ 

 

 

 

 

 

 



  ＜比・割合＞ ～比例式の計算（応用）～   

(例題) 次の□にあてはまる数を求めなさい。 

ポイント 左右の差に注目 

(２) (□＋８)：(□×２＋４)＝３：４ 

 

 

 

 

 

 



  ＜比・割合＞ ～比例式の計算（応用）～   

(例題) 次の□にあてはまる数を求めなさい。 

ポイント 左右の差に注目 

(３) (□－２)：(□×３＋２)＝１：５ 

 

 

 

 

 

 



  ＜比・割合＞ ～比例式の計算（応用）～   

(例題) 次の□にあてはまる数を求めなさい。 

ポイント 左右の差に注目 

(４) (１０－□×２)：(□×３＋４)＝３：５ 


